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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 39,934 86,603 41,310 45,293
RIRET1T 6 15 9 6
RIRET2T 29 57 27 30
AIEET3T 180 593 289 304
RIRET4T 403 980 490 490
B 618 1,645 815 830
REH 2,680 6,039 2,805 3,234
L&A 4,348 9,536 4,438 5,098
5E 2,626 5,953 2,883 3,070
B AN 1,294 2,837 1,342 1,495
BERT 1,366 1,960 941 1,019
BER2T 782 1,411 682 729
BERST 540 1,240 587 653
B 2,688 4611 2,210 2,401
BEXRE 274 657 322 335
= 2,226 5,077 2,407 2,670
hERE 640 1,433 657 776
e 2,479 5,156 2,499 2,657
25 L ET 2,336 5,115 2,442 2,673
B &AL BT 77 155 64 91
HEFILET1T 567 1,207 569 638
HEFILET2T 615 1,290 602 688
HEZFILAT3T 646 1,480 731 749
g 1,905 4,132 1,966 2,166
B & it B Fr ET 682 1,579 768 811
BHEREBET1T 579 1,176 569 607
BHERERET2T 773 1,730 823 907
BHERERETST 769 1,592 725 867
BHERERET4T 516 965 453 512
HEKERETST 843 1,718 823 895
HEERET6T 893 1,942 943 999
BHERERET7T 877 1,840 909 931
HERERETST 70 213 104 109
£t| 5320 11,176 5,349 5,827
HEF R FET 1,967 4,105 2,005 2,100
S|EFET1T 621 1,576 786 790
S|EFET2T 776 1,766 835 931
S|EFET3 T 750 1,417 647 770
g 2,147 4,759 2,268 2,491
ERE1T 589 1,354 653 701
EIRET2T 387 1,035 517 518
EREIST 511 1,336 654 682
EIRETAT 692 1,474 660 814
EIZEIST 541 1,117 573 544
g 2,720 6,316 3,057 3,259
ME A 2,873 6,273 2,987 3,286
J\THET1T 35 37 13 24
J\THET2T 25 57 28 29
J\THEI3T 51 110 49 61
B 111 204 90 114
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